The powerful and flexible lubrication system




LUBRICUS

1;. AR AL 31 F g
P R RLE 3T e oy
e e R iy

Gruetzner GmbHE 19944 &l 0| XNIS&E AlAE 9
NMNE3AIZ2 Xl 26t D ASLIC

= 38 = ol QIM , UHS ol JI=HCl Y HFC=Z
Cel ZOIEQA Ot ZRENX e SFE S HSE LI
ULAHOZL2H J B2 0|7e, £l Cheet HE ZEZ2I20t
SIZ0AM ItE F Hotd FAHJO0l HOLD| U= L



Byt

Lubricus Lubrication
System

A first ovendiew
Lubricus Controller g

Lubricating gearswhesl
far apen booth systems

Lubricus D - ; .,
R ! Chain lubricating pinion
pulse o = for chain hubrication

Technical data
&
Lubricant




et 40K = Ot

Bearing, Linear Guide, Chain,
2 Rack Pinion Gear2t

Quick Check

Inspection
window

Cartridge

. / Drive unit

Digital display

— M12 * 1 plug

LUBRICUS

v 22, JelA 25 AF2 (NLGI 27tX1)

i By i)

AR




Lubricus B-1/2 and Lubricus V-1/2

---

LUB-B-1

LUB-B-2

LUB-V-1

LUB-V-2

& A

ML

Lubricus Lubrication System
Lubricus Lubrication System
Lubricus Lubrication System

Lubricus Lubrication System

™

_{

USLIC

BHE 2l, 3V
BHE 2l, 3V
24 VDC

24 VDC

gez, o
EH
=3

LUB-B-1 and LUB-B-2
HH BHel 23 24 BHges,

9_| BiElCl= €8 =

Zote AlZH0 et e sz &S

I =0 et ItECI XIS 1~36H B X

UA o SLICH

LUB-V-1 and LUB-V-2
24V HE B2 LA B

o|l= o
A/|KE DOqT

-20C~70C

-20C~707C

-20C~70C

-20C~707C

01 LI

400 cc

400 cc

400 cc

400 cc



Lubricus C-1/2/3/4/1-

ML

LUB-C-1 Lubricus Lubrication System
LUB-C-2 Lubricus Lubrication System
LUB-C-3 Lubricus Lubrication System
LUB-C-4 Lubricus Lubrication System
LUB-C-1-1 Lubricus Lubrication System

Lubricus Controller

ML

N A W

LUB-C-1 Lubricus Controller 2 Gl B EE

HX 0l : HESe= 409 Lubricus X2

o2
9 RAEL @7 MBS NEXOZ A4S

= Power supply 24 VDC (max. 10m)
Lubrication Lines (max. 5m)
Connection 24 PLC/SPS

2LIEHEGHL

2 gLth

24 VDC
24 VDC
24 VDC
24 VDC
24 VDC

24 VDC

MIOi ot CHes
12 0 E22 &AL, D8 E 27610 Lubricus 21 E

-20C ~80C
-20C ~80C
-20C ~80C
-20C ~80C
-20C ~80C

-20C ~80C

400 cc
400 cc
400 cc
400 cc

©O © O O O

400 cc

[0
Iy
=
s
e
Iy

M12 * 1 M8 * 1




Lubricus D

Lubricus D Et22 22 AEESHO 2l &2 = UA
SHEN USLICH 20l et Lubricus &8 AIAE2
=70t 1,23 £= 400t X &g = A0 22 PLC
AAE0| 2 RELICH

Lubricus D Bt &H|I2 &0 A=
st ULt S8 2R*F

/\-IHIO.” —.OI ESks] 3‘_ }\IJ\E-II OILIEI.

Lubricus D—-1/2/3/4/1-1

e r——

ML

LUB-D-1 Lubricus Lubrication System 24 VDC 20C ~70TC 400 cc (0]
LUB-D-2 Lubricus Lubrication System 2 24 VDC 20T ~70T 400 cc (0]
LUB-D-3 Lubricus Lubrication System 3 24 VDC 20C ~70TC 400 cc (0]
LUB-D-4 Lubricus Lubrication System 4 24 VDC 20T ~70T 400 cc (0]
LUB-D-1-1 Lubricus Lubrication System 2 24 VDC 20C ~70TC 400 cc (0]




Lubricating Gearwheel

LubricusE AISadl zESz XNHH S22 RE
=320t LSO J|HE AIEE = UN o SLICH
St Il 70 et Crest RS 3360 S LICH

JI= A
* HE: SclRcl® Z2N
2825 ER:-30TC ~ 1507T

« 28 £ % 2D 5m/sec

1 240 kg/m3

=
EL 280 TJelA SR
s EHR A FIHE B2 IOts

1

e ——

LAT-SZ-G Lubricus Gearwheel =l ~10 20~ 100

ML

LAT-SZ-L Lubricus Gearwheel de|Z IR E) 2~10 20~ 100
LAT-SZ-R Lubricus Gearwheel de|ZIIHNRERE 2~10 20~ 100

@




DIEYN
P ElRAUE YA
-30TC ~ 150C
: =1 5m/sec

1240 kg / m3

o
40
N By
10 m
Hel
2
MUY
= g
- [r
[0 MO

ig 0
2

—
0

]

=13
=

S0 Ot
o

I J

-

rr
m
b
rr

e gy &
—

ol
o
-

1
I
1o
oo

i
=
<)
rr
-
W o
¢ o

up 40 e
1o

=

O

nr o

o

ne

0z

_O'ﬂ

- o

-J
O
>
W
>0
e =

8 W O B & i

oy o o

-

>

4~ o re

A= TL e
S0l [Cet C*Efﬂm 2H0|
=% NE s =.L| Ct.

=

Jin

c
o
lo

mo g

HU 3o
Q2 g
o
0
I
b

I o
0 K&

S

gl delA 2%

A=A 52 Jis

= 0 2 0y
00 J¥ ng q0
Oy 5 2 M

o

o

40

o

>

W

LI
1>
s0 lr

O
o

LAT-KR-08
LAT-KR-10
LAT-KR-12
LAT-KR-16
LAT-KR-20
LAT-KR-24
LAT-KR-32

Lubricating pinion
Lubricating pinion
Lubricating pinion
Lubricating pinion
Lubricating pinion
Lubricating pinion

Lubricating pinion

08 B-1/B-2
10B-1/B-2
12B-1/B-2
16 B-1/B-2
20B-1/B-2
24B-1/B-2
32B-1/B-2

20~ 100
20~100

20~ 100




Lubricus — Technical Information and Lubricants

Lubricus & AlAEES Clst 48
EHUHAYE, s2d0HAH, IO
SHFNMOZ 242 BE SIUE &S
JtECIKl= CHYst H&E A U
ot 22M 3= Jts gLt

s g + U
a

2 M=
= AsLlth

OO, DM 27 Al

Lubricus — Technical Information

13/ & IE 2l Xl /400cc or 200cc

ZEN @2 L= 2lA (NLGI2)
ZIt 28 &= 70 bar
& J|2t 1~3643
EEE/18 0.15¢cc
Slec t6SA
2 1,120 g
AJ|,WxHxD 112x 196 x 94mm or 112 x 162 x 94mm

Lubricants for Lubricus — Standard fillings

LAT-KAO1
LAT-KAO02
LAT-KAO03
LAT-KA06
LAT-KAOQ7
LAT-KA09
LAT-KA10
LAT-KA14
LAT-KA1S5
LAT-KA64
LAT-KA70

Lubricus It E 2l X
Lubricus It E 2| X
Lubricus It E 2l X
Lubricus It E 2l X
Lubricus It E 2l X
Lubricus It E 2l X
Lubricus It E 2l X
Lubricus It E 2l X
Lubricus It E 2l X
Lubricus It E 2l X
Lubricus It E 2l X

Multipurpose grease
Multipurpose with MoS2
High temperature grease
Semi-fluid grease
Heavy duty grease
Biodegradable grease
Food Industry grease
Multipurpose oil
High temperature oil
Biodegradable oil

Food Industry oil

—20°/+120° Li/Ca
—30°/+140° Li
—40°/+160° PHS
—40°/+110° Li/Ca
—30°/+150° Li/Ca
—40°/+120° Li/Ca
—20°/+160° Al
—10°/+90° =
—20°/+250° =
—20°/+100° =
—30°/+100° =

Min.




Lubricus — Accessories

Threaded fitting
for hose @ 6 mm, straight

M5 LAT 7097
Mée LAT 7084
M6x0,75 LAT 7085
M8x1 LAT 7086
M10x1 LAT 7087
1/8" LAT 7076
1/4" LAT 7079
Threaded fitting
for hose @ 6 mm,
knee type
M5 LAT 7097G
M6 LAT 7084G
M6x0,75 LAT 7085G
M8x1 LAT 7086G
M10x1 LAT 7087G
1/8" LAT 7076G
1/4" LAT 7079G
Bulkhead coupling
e 25 mm, incl. 1 Nut LAT 7045

m 60 mm, incl. 2 Nuts LAT 7046

brass nickel-plated
—— Hose

@ 6/4 mm, plastic
per meter
unfilled LAT 8002
filled with universal grease LAT 8002-01

Tube cutter
12mm, for Lubricus
high-pressure hose

Brush

plastic bristles LAT 8034
@ 25x45 mm

Brush

horse hair bristles LAT 8041
@ 28x15 mm

plastic

Brush

40 mm LAT 8035
70 mm LAT 8036
100 mm LAT 8037
25 mm LAT 8038

Aluminium

Brush, lateral connection
40 mm
70 mm
100 mm
Aluminium

Splitter, uniform division
Splitter for grease

"} 2-way, straight LAT-Split-2
3-way, straight LAT-Split-3
5. 4-way, straight LAT-Split-4
| Splitter for oil
operating temperature range: 2-way, straight LAT-Split-20
+10 bis +90°C 3-way, straight LAT-Split-30
4-way, straight LAT-Split-40
Progressive distributor
for grease and oil
progressive distributor 2-way JLAT-PRV-2
progressive distributor 3-way JLAT-PRV-3
progressive distributor 4-way JLAT-PRV-4
progressive distributor 5-way JLAT-PRV-5
progressive distributor 6-way J|LAT-PRV-6
progressive distributor 7-way JLAT-PRV-7
progressive distributor 8-way |LAT-PRV-8
Battery for Lubricus
Replace with each cartridge
LI-Battery 3.0 V LAT-BAT-L

LAT 8077

LAT B035s
LAT 8036s
LAT 8037s

Simplex chain lubricating pinion
incl. fastening axle
Thread: M6/M10

ISO-Nr. p [inch]
08 B-1 1/2 x 5/16
10 B-1 5/8 x 3/8
12 B-1 3/4 x 7/16
16 B-1 1x17
20B-1 1%, x3/4
24B-1 1Y, x1

32 B-1 2x1Y,

Duplex chain lubricating pinion
incl. fastening axle
Thread: M6/M10

ISO-NrK. p [inch]
08 B-2 1/2 x 5/16
10 B-2 5/8 x 3/8
12 B-2 3/4 x 7/16
16 B-2 1x17

Tensioning element
for chain lubricating pinion
Deflection: max. 50mm
Tensioning force: 350N
For M6 axle

For M10 axle

Lubricating gearwheel
PU foam, open-celled

Toothing: straight
Module 2 (width 20mm)
Module 3 (width 30mm)
Module 4 (width 40mm)
Module 5 (width 50mm)
Module 6 (width 60mm)
Module 8 (width 80mm)
Module 10 (width 100mm)
Module 12 (width 120mm)

Toothing: sloping right
Module 2 (width 20mm)
Module 3 (width 30mm)
Module 4 (width 40mm)
Module 5 (width 50mm)
Module 6 (width 60mm)
Module 8 (width 80mm)
Module 10 (width 100mm)

Toothing: sloping left
Module 2 (width 20mm)
Module 3 (width 30mm)
Module 4 (width 40mm)
Module 5 (width 50mm)
Module 6 (width 60mm)
Module 8 (width 80mm)
Module 10 (width 100mm)

Fastening axle
Straight,

Fastening: M10/M16

Module 2 (width 20mm, M10)
Module 3 (width 30mm, M10)
Module 4 (width 40mm, M10)
Module 5 (width 50mm, M16)
Module 6 (width 60mm, M16)
Module 8 (width 80mm, M16)
Module 10(width 100mm, M16)
Module 12(width 120mm, M16)

Fastening axle
Angled,
Fastening: M8, Conn. M10x1
Module 2 (width 20mm)
Module 3 (width 30mm)
Module 4 (width 40mm)
Module 5 (width 50mm)
Module 6 (width 60mm)
Module 8 (width 80mm)
Module 10 (width 100mm)
Module 12 (width 120mm)

Cable

Plug M12x1, M8x1 (Contr.)

Can be used with drag chain

5m M12x1, open end

M12x1, open end

M12x1, outlet M8x1

M12x1, outlet M8x1

M12x1, LED

Mi12x1, LED
lug-connection 4 pin

10m
5m
10m
5m
10m
M8x1

Power supply unit
230V/24VDC connecting cable
with plug

(Europe version)

LAT-KR-5-08
LAT-KR-5-10
LAT-KR-5-12
LAT-KR-5-16
LAT-KR-5-20
LAT-KR-5-24
LAT-KR-5-32

LAT-SP-10
LAT-5P-16

S
&

=
@

>
@

>
@

E
a9

>
&

E

wn

PPN NN NN
S R=]

LAT-A-12

LAT-A-2G
LAT-A-3G
LAT-A-4G
LAT-A-5G
LAT-A-6G
LAT-A-8G
LAT-A-10G
LAT-A-12G

LAT-WI-0-5

LAT-WI-0-10
LAT-WI-8-5

LAT-WI-8-10
LAT-WI-LED-5
LAT-WI-LED-10
LAT-WIS-8-4/

LAT 8080




LUBRICUS

Controlled Minimum Lubrication with Grease

] %D_%EEHEM?—?—’&' |n|OF 2 E 5065
1-6651 g A : 041-551-8865
tion.co.




